7.2 Calculus of Parametric Curves Cont.

Friday, December 2, 2022

Obyectves -
) Find pree wder o aram@ﬁ’fc e .
1. F‘MdM?, e orc [ ,jte Wwv&{-nc eont .
2, le.w te guy:fw eratd b & prvamebip  corve.

Tpdearsle /mm/rmo; perometic Corves
/ 1

T:Aree wder o Porametnc Cowe:
é'aug;/w the mn—ee/f - iw/hsec 7‘;'14 /7/3148 corve /7’711 {J
bﬁ He perawetvic 87"7'79”5 j
x = X(+) ﬁzﬁﬁ) , 9L¢tel

wd 2sspme Hot xt4) io dilfeeatirde .
The eres WVIW this Ve Iiﬂ,w}n b?

A= / g X'(Hde .
exam//e "
¢ A = €E-sin(E) 3(+)=l-cael+) , 0tteaT
e v zn Esz//e 4/, 3 cya/aio(-

¥(+) =t-SnH)
&« 3(4) t (—cos)

b
A= f yﬁ) x'($) At
°

= / d (1-cost92) (1 - costh)) 4t
0

Topics Page 1



.
0 " 1- 2eos®) 0s¥h) At

zn
:/ |- 2cos(+) + L+ ws[Z-D)/f
) z 2

1
- / (% — Zcosl+) +c09(3+)>/’c
) 2

= 7t - Zsinl4) + gnlzb
z 4

A= o

Whini ~46%+;; Port- 1
Find the erez wder 4be corve 4 He hy,:oya/diﬂ

/@,ﬂmed by e czmﬁme
xt+) = Deool+) +s(2€) ﬂﬁ)?—?ﬁuﬁ)'ﬁm(ﬁ), oc€eT
I Arc Iw7/b\ d-o Pramphic (me
(wsidor He  plme come. a/af.‘uea[ /ag He gorawehic 67ua7‘7‘m9

x=v(#) , a:y&) t&te€:

zm{ 2ooyme tok xth) wud g e /}fow-/wae dao o ¢.

- 7 (T &

Exewww .
* x4 =Y wgl+) at-r) =9siult) , 0€ €T

4 ’ Ax = - DGui)

Topics Page 2



dAx = - 95uit)
%2 =%w09lt) ¥
” | 49 = 2ot
”H) =%intt) AL
4= 0
3 >

l( () b

i
J (-25m(9)" - (Fwad) d%

T |
=j |Toe + 1052¢ It
b

7 ,
= / Jo, (gimz t wo't) A
[/ \/—"‘v—-——-—-/

|
T
5 f 2dt
0
-
)
9= 9T
Mivi - Achivi Yot 2

Fiud e M A e cu wed
Iy e ¢ et e e e

X = 2L ﬂm =2, [Lie

T %nfat& Are 7wem~/!/ /ﬂa_ e Pewmehic (omve

Yozl v [ouwlo:

Topics Page 3



T / U, § , -
%3|\%,€0—rw0)3‘.

R T
5 = &’WJ FD 1+ Q') dx
2
QUT*BCC Vel wem-"ed L e W(;H(m - (y)
1L,f,w\ X=3 hjx:b. ;l f 6df
Now, (cwider He pnmdvtc €1W"HIIM9

y= &), fa=at+), 2Lttt .

b —
6= 21T j ) ﬁx'ﬁ))% ( 3’(+))L at
| ° d

V
surfece arez 8040’7484 ba 2 paronehic e,

Exzwlp le:

o XN =rweld) , aN) =roult) | 0L £LTT

o 1) He ’wwmc 2hon; ;g, > cirle o redhe, R .
i 3 otmi - cirtle .

cme  dowmarn i 0L ELT, fuem

4

éw_%ae vy

Topics Page 4



%\(*7 = “ronlt) , 6'”’) =Zrwe(4)

b )
S=ar _L 4 JT;‘H))" F Ly dt

-7 | T o) (~roue)F (roskh)® o
0

‘"‘ — )
= 2 T"{ roml+) \ yl(ﬁwl{" Fst) b
b

.
— T f Loinlt) AL

= (- Coc,lﬂ)’
= AMy? L«w +y /sm)
G = ATr? ~5 Lowlls for ot Sedue wrez

Wivs = Ackiv h?) fort 2

Fud e ondae area quersted wlem He plue (yrve

J&%‘MCJ ba e C?V?/J‘mﬂ
(=4, g =, oLesl

v reohved aeud e x-2aic.

Topics Page 5



